Name: Date:

Arc Length of a Sector

central angle . Bxnxr
Arc length of ct == xn xradius = ——5—
rc length of a sector (s) 180 180°

-
Example:

=14ﬂ°x 3.14x7
180°

Length of the arc AB =17.101in

Find the arc length of each sector. Round the answer to two decimal places. ( use m=3.14)

1) 2) 3)

Q
M
J ' *ﬂ
P . L
D

Length of the arc PQ = Length of the arc DE = Length of the arc LM =
4) 5) 6)
G <\
5
H
Length of the arc GH = Length of the arc AB = Length of the arc RS =
7) 8) 9)

<
T
E

Length of the arcYZ = Length of the arc JK= Length of the arc EF =
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Answers

/Example: Arc length of a sector (s) = central angle X T X radius = Bxmxr h
< 180 180°
140°x3.14x7
180°
Length of thearc AB=17.10in
. J

Find the arc length of each sector. Round the answer to two decimal places. ( use n=3.14)
3)

1) 2)
E
Q
M
] ¢ g
P r L
D

Length of thearcPQ= 43.96in Length of thearcDE=_ 22.33 yd Lengthofthearc LM = 4.36 ft

5)
G
H

Length of thearcGH =_ 23.03 yd Lengthof thearcAB= 4,19 ft LengthofthearcRS= 8.72in

>
T
E

Length of thearcYZ= 54.43ft Lengthof thearcJK= 4,88 LengthofthearcEF= 34.02in

4) 6)

7) 8) 9)
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Name: Date:

Arc Length of a Sector

: ™
Example: Arc length of a sector (s) = _ﬁ_central angle xm xradius = Bxmxr )é r
180 180
_140°x3.14x7
180°
Length of the arc AB =17.101in

N J
Find the arc length of each sector. Round the answer to two decimal places. { use n1=3.14 }
1) 2) 3)

C Y
) A X[~Toya -
2\
s
D
Length of thearc CD = Length of the arc RS = Length of the arc XY =
4) 5) 6)
5
T
A =] 7 E u
A ; Sijk ,
Length of the arc AB = Length of the arc EF = Length of the arc 5T =
7) 8) 9)
Q
5 Y
‘ =] C 'ﬁf N
D

Length of the arc OP = Length of the arcCD = Length of the arcYZ =
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Arc Length of a Sector

Answers

central angle

Arc length of a sector (s) = R x 1 x radius = Bxmxr

180°

140°x3.14x7
180°

Length of thearc AB =17.10in

Find the arc length of each sector. Round the answer to two decimal places. (use m=3.14)
1) 2) 3)

LengthofthearcCD= 34.02in Length of thearcRS=  7.94 ft Length of the arc XY =_ 15,7 yd

4) 5) 6)
5
T
A =y = E u
; ; ) ,
Length of thearcAB=_17.44 yd Length of thearcEF= 3,14 ft Lengthofthe arcST= 64.89in
7) 8) 9)

0
WO p ¢ -3" YZ
.

Length of thearc OP = 4p.04 ft Length of thearcCD= 15.18in Length of the arcYZ= _31.66 yd
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Name: Date:

Arc Length of a Sector

\\
Arc length of a sector (s) = wﬁw xmxradius = an_)ér
180 180
_140°x3.14x7
180°
Length of the arc AB =17.101in )
Find the arc length of each sector. Round the answer to two decimal places. { use m1=3.14)
1) 2) 3)
5 L
s
% ‘ £ ) g
| 1
Length of the arc ST= Length of the arc CD = Length of the arc PQ =
4) 5) 6)
>, | |
M
M
Length of the arc GH = Length of the arc MN = Length of the arc JK =
7) 8) 9)

Length of the arc AB = Length of the arcEF = Length of the arc OP =
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Arc Length of a Sector

Answers

central angle X 11 x radius =

Arc length of a sect = —_—
rc length of a sector (s) 8 180°

=140°x3.14x7
180°

Length of the arc AB=17.10in

Find the arc length of each sector. Round the answer to two decimal places. { use n=3.14)

1) 3)

2)
§ "

Length ofthearcST=  12.21in LengthofthearcCD= 43.00ft Length of the arc PQ=_ 53,03 yd

Q

4) 5) 6)

B G

Length of thearcGH=__ 6.98 yd Length of thearc MN= 18.84in LengthofthearcJK= 19,54 ft

S

7) 8) 9)

E

Length ofthearc AB=  7.41 ft Length of thearcEF= _ 54.43 yd Length ofthearc OP= 17.01in
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